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— ~ Evaluate: (64%)

(2) lim,,(Vx® + 15x + 20 —Vx3 —5x + 10 )
. e*+e *-2
(b) lim, 1-cos 3x

() Find 2 at (1,-2) if y* + 3y = 423 + 5x + 1.

(dFind /(1) if £ = [77(¢2 + DX dt.

+Vx
(e) [ i_ 7z dx
® [In(x+ 1) dx
@ [)e ™ dx

Gy Jf R x;:_ > dA, where R is the region in the xy-plane bounded by

thelines x =1, y =0, and y = x.

=~ Let f(x) = Tl(; (x* —4x3). (a) Find the relative maxima and

relative minima of f. (b) Find the points of inflection of f.
(c) Sketch the graph of f. (12%)

= ~ Phillip, the proprietor of a vineyard, estimates that the first 10,000
bottles of wine produced this season will fetch a profit of $5/bottle.
But if more than 10,000 bottles were produced, then the profit per
bottle for the entire lot would drop by $0.0002 for each additional
bottle sold. Assuming that at least 10,000 bottles of wine are
produced and sold, what is the maximum profit ? (12%)

79 ~ Suppose an investment is expected to generate income at the rate of
f(t) = 3000 + 80t
dollars/year for the next 10 years. Find the present value of the
income from this investment if the prevailing interest rate is
5%/year compounded continuously. (12%)
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